JSUNIL TUTORIAL = Submi 11%1 by Visitor
M. E. S, INDIAN SCHCOL, DOHA ~ QA 22Q88FM

Hehfera aier - 1, 2015-16
SUMMATIVE ASSESSMENT -1, 2015-16

nfora / MATHEMATICS
& - X/ Class - X
Fraff@ @93 hours atfereraw 3iah : 90
Time Allowed: 3 hours Maximum Marks: 90
mﬁ%m :
1. 94 9 fam §)

2. T WE W A 31 v € fod ww@vel &, ®, @ agn g o wie T §) wue-A H 4 W
& R w1 o7 @1 ¥ @us-a A 6wy & Rl voE ¥ 2 3w & Wus-W H 10 7
T o 9% ¥ 3 3iw & 9w @ue-T § 11 ¥ € faad waw ¥ 430 2

3. TAYWE A H =8 fasey 781 21

4. FAHo & AT affa R

General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

@US-3 / SECTION-A
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Question numbers 1 to 4 carry one mark each

/ 4§ AABC ~ APQR ¥1 AB=65 cm, PQ=10.4 cm, 31 AABC I WfHI4 60 cm &, @ APQR &1 1

Ty Fd HIfT
If AABC ~ APQR, AB=6.5 cm, PQ=10.4 cm and perimeter of AABC=60 cm, then fmd the
perimeter of APQR. 7
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If sin® — cos8=0, 0 < 6 < 90°, find the value of 6.

(cosec28 —1).tan26 ST T T HIfIC | 1
4 Cose v~ | - W &
Find the value of (cosec28 — 1).tan20 L - \
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In the following distribution, find upper limit of medianclass: Q A .

Class interval | 0-8 | 8-16 | 16-24 | 24-32 | 32-40 | 40-48

Frequen 7 9 10 8 12 8
equency

L lac leg
% 3 \C- 26 TUE-§ / SECTION-B

T¥ &A1 5 410 § TAF F 2 3 ¥
Question numbers 5 to 10 carry two marks each.

’ t‘i} wﬁsqfa{£+ﬁ)zqmmﬁﬂﬂm%|
Show that (V3 + J§)2 is an irrational number.

_ , 5@6_ a\\au
;/ 95 AY1 190 &1 WY orHEYE fafy g weaw aHvads: F[ Hifsg) 2 2 3
‘__L_ o AL
Find the HCF of 95 and 190 by Prime Factorisation method. (& «@
A0 AxAx2x2%2% S, = (I
AT : GXTONR2Y NT S
7 % agIE 2 —7x+k F YLIF o AUIR B G4 a—B =17, T k & 7F FId HIfeQ

If zeroes a and B of a polynomial x2—7x+k are such that o —B =1, then find the value of k.
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If D and E are points “on the sides AB and AC of AABC such that

AD=6 cm, BD=9 cm, AE=8 cm, EC=12 cm, Prove that DEJ[BC.

forg wforg, 00 _ 1 — siné 2

1+ sin@  cosé

Prove that : cosh _ 1— sin@

1+ sin@  cosB
6 frafaten el #1 ageis F1d BT : 2
: 200- | 300- 600-
| ot sicwe | 100200 00 a0 |400-500 |500-600 | o
HRERET 18 15 23 55 87 29

—n

Calculate the mode of the following data :

Class 200- [300-  [400- J zoo o 600-
interval 100-200'1 350  |400 500 I i 700
Frequency | 18 B |2 |5 ||&¢ || D

TUE-H / SECTION-C
v et 11 4207 T F 3 3F B
Question numbers 11 to 20 carry three marks each.
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An army contingent of 678 soldiers is to march behind an army band of
36 members in a Republic Day parade. The two groups are to march in the same number of
columns. What is the maximum number of columns they can march ? g
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7x—5y=2
x+2y=3
Solve for x and y :
7x—5y=2

x+2y=3

37 agmes’ —ax+ 19x— 12 %1 TH w4 &1 T0F W qEE T FI)

£ | r
If one zero of a polynomial x —8x + 19x — 12 is 4, then find all the zeroes.

/ s Tt 20 =5y +4 Wo@ #1 TF o Yaw T 7@ ¥R fafan 6 @ g g fref 3

@ :

@  wiaesd &
()  H9rr &
(iii)  FHaC &

2x =5y +4 is given. Write another linear equation, so that the lines represented by the pair are

(f  intersecting A # b
(i}'ﬂ coincident A = b.C

(Ai) parallel a:=hd4ce .

}é ABC T wnfgatg Brgst @1 afk £B=90° ], o fag #ifsm fi6 AC?=2BC? #) 3

ABC is an isosceles triangle. If /B =90°, then prove that AC?=2BC>
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State whether the given pairs of triangles are similar or not. In case of similarity mention the
criterion.

(a)

(b)
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y( sec A — cosec A L
sec A + cosec A J§

);.({ [T=sinA 1

Vi+cosA 242

If 3tan A=4, then prove that : ,\wf‘-. 5,,
3

0 sec A — cosec A 1

sec A + cosec A ﬁ
(i) 1-sinA - 1
STy 242

(18)  fug ifm -

1-cos8

(cote —cosec9)2=
1+cos8

Prove that ;

1—cos

(cot —COSQCB)Z 2=
1+cos0

lé 1 dza &1 e I #ifg
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FH E ‘W & & $H
aUERa | 8 15 27 50 61 74
FTAA 80 [|9%0 [ | 1009
LU S
Lmnm 82 88 100
l
Find the mean of the following distribution :
4 €
Class Below | Below | Below | Below | Below | Below ;f? :: <
" ;
Frequency | 8 15 27 50 61 74 qo- Lo %o
Class Below | Below | Below §o-Ce Gl
Interval |80 |90  |100 Geje 4
Fo-g0 ¢2
:mquency 82 88 100 20-490 2g
75 = srtwz] & 5oy @ wars g #iferg ) q0-100 . 00
A 04 48 812 12-16 16-20
AR 3 5 9 5 3
]
Find the mean and median for the following data
[ Class 04 48 812 12-16 16-20
Frequency | 3 9 5 3
\ WUE-7 / SECTION-D
W e 21 #1319 WA & 4 50% €
- Question numbers 21 to 31 carry four marks each.

s e

'ﬂwmmﬂtmmeme M LCM T Wi afz 4
6 FoT p, g W favifen st § D @ aw g @) vi favif w2 wrE Fifey )

e HCF and LCM of the smallest odd composite number and the smallest odd prime
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number. If an odd no. p divides q2 then will it divide q 3159\? Explain.

s

fo 4 SR 3l 3 2 1 T 7 2100 & e 5 AT 3iR 2 Al 0 EA T 1750 B uw A 3R 1 T 4

T T~ HTF [ B |

4 chairs and 3 tables cost Z 2100 and 5 chairs and 2 tables cost T 1750. Find the cost of one
chair and one table separately.

23 BRI A f(x)=3x4—913+x2+15x+1<a:‘13x2—5ﬂmﬁwﬁmmm%,?hkawr-r 4
T wifsrg iR o= ) g i I FEY

If the polynomial f (x) = 3x4 — 913 + x2 +15x + k is completely divisible by 3x2—5, find the value
of k and hence the other two zeroes of the polynomial.

% TV Y o fowem ¥ e w= F A A iR g TF @t ud SR gl @ Sgae 4
p(x) =2x2—5x+7 F TAFI (o, B) F T ¥ W foFm - wwan }1 wow A i swfewan 3 TR
BE B o R % T a9gue T E® 20+3B 30 +2p E FEIH A | 9% 97
T e, foraS % 2o+ 38 3R 3a+28 ¥
FHftga, Totw @ 74 Wa g8 2
Rajesh donated some money and books to a school for poor children. Money and books can

be represented by the zeroes (i.e. o, B) of the polynomial p(x) =2x%2—5x+7. Akshita who is a
friend of Rajesh, also got inspired by him and donated the money and books in the form of a

polynomial whose zeroes are( 20+ 3@nd (’i\a +2.) Find the polynomial whose zeroes are
20+ 3B and 3 +2B. |

Why did Akshita got inspired by Rajesh ?

f RYTINE Wi @ B fafaT ik T fag FRT

WW%W@WW%MWMWWWE&W'pwm,Wﬁmﬁ
FEE qem TMp—q=1%|

State and prove pythagoras theorem.

Using the above theorem find the third side of a right triangle whose hypotenuse is of length

)
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‘p’ cm, one side of length q cm and p—q=1.
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Prove that if a line is drawn parallel to one side of triangle to intersect the other two sides in
distinct points the other two sides are divided in the same ratio.

Nfé' Frerufirdta Wi % wam forn WA @ =i

2apa 2o
cos 35" +cos ' 4 /3 (tanl3".tan23".tan30°.tan67°tan77°)
cosec” 15° — tan” 75°

Without using trigonometric table, evaluate :

ca:;s2 35° + ccos2 55°
cosec?15° — tan275°

+ 3 (tan13°.tan23°.tan30°.tan67°.tan77°)

2/ Tf& m = cosecA — sinA 9T n=secA —tanA

2
A fag wifvg [mzn)i + (mn"")5 =1

If m = cosecA — sinA and n =secA —tanA,

2 2

prove that (m2 )3 + (m2)3 =1

; (Jé\ AR cosh — sin® = 2 sind &, A Tag FIFIT T cosd + sind = V2 cosd R

If cos6 = sin@ = JZ_ sin, then prove that cos® + sind = Ji cosH.

3} o e e 3, frenfel g 80 A S 3w 1 Rg M
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In a class, test, marks (out of 80) of students are given in the following data :

Less Less Less Less Less

Less Less
Marks than than than than than than than
20 30 40 50 60 70 80
Number
of 4 12 22 34 44 48 50
students

¢ L
* Draw a “less than type’ ogive for the above data and from the curve, find median and verify
the result.

1 Frefafaa arar sz &1 w628 # SR @it sERae A 50 ¥ o arerad £ @) f, 4

araafrﬁrq:
a7 a0 [ 0-20 [ 20-40 | 40—60 | 6080 | 80—100 | 100—120 qRT FHA
\m 5 A 10 £ 7 8 50

I

The mean of the following frequency distribution is 62.8 and the sum of all frequencies is 50
Compute the missing frequencies f; and 5 |

\C]assinterval 0-20|20-40 | 40~60 | 60—80 [ 80—100 | 100 =120 Total‘

o\ Lmquemy l5 A W Tk 7 8 50 |
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